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308 XXIEHH SOl A 109,247 97,347 11,900
07 X HH2LESE S 109,247 97,347 11,900
Odt=dlstE &Il Xt 105,275
Ot=Z A& x| Y HOt 3,972
&= SHEHI 3,600 17,940 A 14,340
405 RHoHE S HI 3,600 17,940 A 14,340
01 et EZFHSHI 3,600 17,940 A 14,340
O&= st &H 2 3,600
—JIAS 1,300, 000& »2CH 2,600
— Ol=JI 500,000 *2H 1,000
AHEITHOH L K2l SOl (M= 202X S ) 714,979 704,087 10,892
= 285,992
L3 128,474
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s 9,915
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= 7,680
= 3,456
[ia 8,064
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HAX == 69,8003 43 2 6,003
—FYU2RE 104,700& 43 10 45,021
- B8z 44,465,000 14! 44,465
MU HHE(SEIEX) 612,907 705,649 AN92,742
73,825
i 539,082
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= 1,786
= 804
= 1,875
01 AP 2t 2] H| 4,465 4,465 0]
ONE X3 SAH| 4,465
= 1,786
& 804
= 1,875
202 04| 3,400 3,400 0
= 1,360
== 612
= 1,428
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= 4,230
- 9,870
01 JHMtY =2 E F S H 23,500 23,500 0
OJH el &l 3FEHH| 390,000& *507H 19,500
= 7,800
& 3,510
= 8,190
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= 1,600
= 720
= 1,680
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= 320
[ 144
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= 19,078
< 5,214
s 12,194
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OUAENF AN NEeas B =g
120,000 »4H x23| 960
02 =224l 7,560 0 7,560
O&AMEBEFMEE SRH(ESR)
1,260& %404 =150 7,560
A AL 1,030,000 550,000 480,000
308 A EHHSOIA 300,000 300,000 0
07 IXNHMAR S = 300,000 300,000 0
OAMEX SXZeldl (XIXA)
300,000,000& =14 300,000
401 AIEHI L 201 730,000 250,000 480,000
01 A& Hl 730,000 250,000 480,000
OA&FXI A ALS 620,000
— & 5 &4XALEALS
50,000,000 =104 2 50,000
—FA 22 STAYAY
50,000,000 * 104 2 50,000
— &AL 24F SERTAFE ALY
50,000,000 * 104 2 50,000
— 3 =5 -85 4AMTAEY
50,000,000 =14 2 50,000
— & ES LRALE ALY
50,000,000 =14 2 50,000
—AHg et AE SXTAFE ALY
50,000,000& =104 2 50,000
—HS & LRAE ALY
50,000,000 =104 2 50,000
— &5 Gab SFRTAFE ALY 70,000
— B == LRALZ ALY 100,000
—HY 39 4T ALEALS 50,000
— &N SN SHRTAFR ALY 50,000
OAMgdE =4 70,000
— &= =213 10,000,000& *1JH £ 10,000
— & Qo+ 10,000,000 * 104 2 10,000
— &N 2 XX 10,000,000& *1JH £ 10,000
— 8 =321+ 10,000,000 » 104 2 10,000
— B =4MT+ 10,000,000& *1JH £ 10,000
—&& BIEXF 10,000,000 =104 2 10,000
—HEg HXR 10,000,000 * 10 A 10,000
O&HAMERF XIS KIE - Kl AEBHZAL S
20,000,000 24! 40,000
e SIlo SN (M) 7,420,915 0 7,420,915
= 4,638,369
< 1,391,272
s 1,391,274
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401 AlEHIZL 2 0HY| 7,420,915 0 7,420,915
= 4,638,369
= 1,391,272
= 1,391,274
01 Al&Hl 7,420,915 0 7,420,915
Ol s0loll EPAI('20.7.28.~8.11.)
7,420,915,000& = 14! 7,420,915
= 4,638,369
== 1,391,272
= 1,391,274
A2 S LI 2SR X2 (SHore) 6,727,453 0 6,727,453
= 6,727,453
401 AlEHIZL 201 Y| 6,727,453 0 6,727,453
= 6,727,453
01 Al&H| 6,727,453 0 6,727,453
ONME ST 2EFA('20.7.28.~8.11.)
6,727,453,000& » 1Al 6,727,453
= 6,727,453
B354 FUAY 15,960 38,000 A 22,040
o= 4,788
= 11,172
401 Al EHI L 204 HI 15,960 38,000 A 22,040
o= 4,788
= 11,172
01 Al&H| 15,960 38,000 N 22,040
OES 4 HUAY 15,960,000 =1 Al 15,960
& 4,788
o 11,172
AL 2 ANSE ESAY 135,500 157,100 A 21,600
401 AlEHIZ £ 0HY| 135,500 157,100 A 21,600
01 Al&Hl 135,000 156,600 A 21,600
OEHSE, A= & F=HAY AIY
10,000,000 62 60,000
OO0t EHl MY 15,000,000 504 & 75,000
03 A2 HH]| 500 500 0
OAl&E S0t 500,000 =14l 500
=JIRI| AFY 1,025,770 1,015,035 10,735
= 464,657
= 137,552
= 423,561
MM R (HSLERIERD]) 306,348 306,348 0
= 153,174
== 45,952
= 107,222
402 BI2H X 20| M 306,348 306,348 0
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— X LY 2 EH 2l 4,750
=2/t 190, 000& *5& x53] 4,750
— A& KX 2l 6,000
T R
625,000& *83| 5,000
> SHWE 1,000, 000& *13] 1,000
—25$HE 12,500& 4004 5,000
— &DJ|orA 22| CHEdd] 400,000 x12& 4,800
—&IIANE= 100,800
QB (A JI2S, HOAAE 5)
6,958,330 x12& 83,500
MY =& 2,000,000& «1& 2,000
Q1 2Tt 25,000& = 12& 300
Xl = Al EH 1,250,000& *12& 15,000
—Q0lHY 2= 20,000& *133| & x12& 3,120
—-TVe a3 15,000& 444! x12& 7,920
— ABNS R 100,000 *23| & x12& 2,400
— NI BAN=E 25,000& *13] 25
— LISl (HA=9)
99,000& *12& 1,188
— O3 HasSA2(IE S2I|) 20,3502 «128 245
— 283z A 1,500,000& x13] 1,500
—QXelAlE HA 1,000,000& #2204 A 2,000
—JtAEFRY 80, 000& 14 80
—JtASA 36,000& x103] 360
—AUyUNMA 2,000,000 x 14! 2,000
— HLED] A 100,000& *20CH 2,000
202 04| 3,840 6,700 N 2,860
01 2LH 0 HI 3,840 6,700 N 2,860
Oitels e 2922 20,000& 4H 4L« 1201 & 3,840
206 M = Hl 1,200 1,200 0
01 24l 1,200 1,200 0
OBHE AHPY(MEH 20X S)
24 ,000& «50 1,200
401 Al HI 2L 2 0HHI 54,500 18,000 36,500
01 Al& H| 54,500 18,000 36,500
Oz A8 24 & 24,500
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SA A
Ha: 4YXR LS
©el: B2 29 CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
—d2 L ANE2 B+ 2,500,000& «2J4 & 5,000
2282 3A 2,500,000& »23| 5,000
—E2XE B3 A 5,000,000& » 14! 5,000
— =2 E23A 2,000,000& » 14! 2,000
—QFHelAE B SAF 2,500,000 14 2,500
—OFE O3 FHALE HIJE XOtS A
5,000,000& » 14 5,000
OY%ENHE=LE Jl=Ha =8 € ZdH=
HE 89 30,000,000 » 14! 30,000
405 RHoHF S HI 11,935 8,060 3,875
01 AL EZFH S 11,935 8,060 3,875
Olgsddy =3+7Y 11,935
— AR A 2Tt 211,000& *5H 1,085
— AME T} 120,000 =44 480
— s L) 5,200,000 = 1CH 5,200
—2gord 1,800, 0002 *2H 3,600
—=22astd 400,000& =44 1,600
ARHMAHAE L (AENAFTSE LX) 600,000 1,200,000 600,000
s 300,000
s 300,000
401 AIEHI L 20 600,000 1,200,000 600,000
s 300,000
[ia 300,000
01 A& Bl 598,000 1,178,000 580,000
OAEXNHSAE Z2AtH 598,000,000 14 598,000
as 299,000
e 299,000
03 A& =2 THHI 2,000 4,000 A 2,000
OAEXNHFAE B2A AL
2,000,000& » 14l 2,000
s 1,000
[ 1,000
dotsHAzey 249 461,799 458,660 3,139
101 124 dl 263,105 257,506 5,599
04 JI2ZHHZ2XREES 263,105 257,506 5,599
Os2d 022X 30,416
—Jlas 104,700& »1H 183 19,161
- =54 69,8003 1«52 3,630
— QX 69,8003 x 1 12 838
— o 2ZR*e
8, 7253 x50%*8Al 2H+ 12 x183 6,387
— ZE S| 200,000 1 %23 400
O&d==J BX 142,392
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S A
HE: MEXNRAS ASF
©el: B2 29 CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
-3 69,800& x40 x25! 69,800
- =54 69,800& x40 x8 22,336
—52422x4 69,8003 *40H 122 x150% 50,256
OWELd=)l =222 X 69,800& *3H 20 4,188
O=sgAId HA0H 69,800 *8H x100Y 55,840
(@)==-K=1 30,269
201 Bt A H| 176,494 192,154 AN 15,660
01 At 22l b 67,908 83,868 A 15,960
Osxg 29z 55,908
— A0 224 S| 8,000 x6H x40 1,920
— &= 0I2ME = 1,200& *4000H *83] 3,840
—cZlEZ3 H& 1,000 *1,5000H 1,500
— 30 L OHHE HH 150,000& * 1094 1,500
— NoHsAE AMRHS 425,000& *43| 1,700
— 2R =H| 10,0002 x35*12& 360
—dL) U= 50,000& ~12& 600
— 2= AHHAE2 1,200
—JlEllExssa 100,000, 000& *4% 4,000
— dMAHA SEHI2 350,000& =14 350
— 2A gXE 99,000& x12& 1,188
—Z2J|E3F)| &= 50,000& x12& 600
— =2 =Z 3 Al 500,000& *23| 1,000
—HE HEHI 2,000,000 1Al 2,000
— PPOMCH 2,200& *1,5000H 3,300
— SHHES(50L) 900! x5, 0000H 4,500
—SZHEE(10L) 2003 x5, 00004 1,000
—SASMYIISE(5L) 100& *5,0000H 500
—ABHOYUE 50,000& *165 800
—NEES 70,000& *50= 3,500
~SEM BL, HHESE
100,000& x10& *33] 3,000
—SIEAE FHEX 50,000& x408f A 2,000
—0l=27¢ 200,000& 5004 10,000
- FHEE 7Y 100,000& x24= 2,400
— MY IS (RBe+=HE) 15,000& x50 4 750
—528 29 4228 2¢ 1,000
—==9 & 0/I0l LIl &X
100, 000& x4 JH 400
—&E=27¢e 1,000, 000& *13] 1,000
Odsgtssa A 12,000
—HA(=m7E) 60,000& *60 3,600
—5(LA) 60,000& 60 3,600
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S A
HE: MEXNRAS ASF
Sel BYY 29 (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
—52(x3) 60,000& «80 4,800
02 332494l 108,586 108,286 300
O 2d2e 106,621
— A& & HH RZHI 6,246
3% 1,260& *3,800¢ 4,788
es 1,360& *8004 1,088
ulpSEeegell 13,000& *x20¢ 260
ccey 5,500& 204 110
—&dl ¥ 2 BEE= 3,500
=2l Hl 140,000& *55 x53| 3,500
— AN&E KX 2l 4,500
AoH (S22 &==0 R MOILEA)
225,000& x204! 4,500
-2k AHE 13, 750& %4004 5,500
— Mot d 22| CH & | 506,250 128 6,075
—&IIAESE 77,200
ABH(=A D28, HoAAE S)
4,900,000 x12& 58,800
ceXelAlE 200,000& x12& 2,400
=1L 4,000,000 x 14 A~ *4& 16,000
—-TVe 3 15,000& x204& x 12 3,600
OXgdAN=T= 25,000& *13] 25
O=dazgA 1,500, 000& *13] 1,500
OJtrsExY 80, 000& *1JH 80
(OPIES-Fs! 36,000& x103] 360
206 M = Hl 1,200 1,000 200
01 24l 1,200 1,000 200
Oddls AdMFL(A4ENM S) 24,0003 %50 1,200
401 Al HI L £ 0HHI 13,000 8,000 5,000
01 A& 13,000 8,000 5,000
O F=HFU| 8,000,000& » 14! 8,000
O=x%29%& XNsE=+ 5,000,000 x 14! 5,000
405 Ko SHI 8,000 0 8,000
01 JHAHE =2 Z 5 S H 8,000 0 8,000
Osdd 29 28 ¢ 8,000
— H&J| 8,000,000& = 1LH 8,000
NAMAHAS s (s hHssys ZAXH) 1,512,000 400,000 1,112,000
hag 1,500,000
= 12,000
401 Al HI 2L 2 0HHI 1,512,000 400,000 1,112,000
hag 1,500,000
= 12,000
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SA A
Ha: 4YXR LS
©el: B2 29 CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 A& HI 1,488,000 398,000 1,090,000
OLSsSANAHAZTALE E2AY 1,488,000
s 1,488,000
02 Zeltl 20,000 0 20,000
OYstsiHdsdd BSAY 20,000
s 10,000
s 10,000
03 A& S THHI 4,000 2,000 2,000
OYstsSHAsLE S2AY AR 4,000
s 2,000
s 2,000
LIASHEFINHE 22 445,569 394,907 50,662
101 @14l 122,428 119,222 3,206
03 RIAHAZZ2HE = 3,000 3,000 0
Os2dg M 1=+ 150,000& 23] x10H 3,000
04 JIZHHZ2XRHEES 119,428 116,222 3,206
OYURAUSAHL, IEFLS 22 17,172
—Jl=s 69,8003 x 1 160 11,168
- =54 69,8003 x 1 32 2,234
—52Z2fxE 69,8003 « 12«32 «150% 3,351
—Qx=g 69,800 »1H 6 419
OESFSIHERIIE d=IIBX 53,397
—Jl=s 69,8003 x 15 25 26,175
- =54 69,8003 x 15«8 8,376
—52Z2RE 69,8003 * 15«12 «150% 18,846
ONEFLE S A0 69,800&+10H+50 34,900
OWHSEE4=) W=2=2X 69,8008 «3H 10 2,094
OE&E & 11,865
201 L2l 206,686 190,735 15,951
01 At 22l 53,251 49,800 3,451
OFIIHE 22l 53,251
— &= OISNEY |E  1,2002 +6000H *82 5,760
— DY 29 2 HYgsSsE 7L
4,000,000& =14 4,000
—SHSHMEE =2 001F) 7L
100,000& x5& *53| 2,500
—cl SN = 1,000& *2,0000H 2,000
—SHEAMEE YENHEH AAREE 7€
250,000& =83 2,000
—SHENEHY HEAEE 7Y
50,0003 108 +128 6,000
—JtE0 =2 30,000,000 *4% 1,200
—ZEZ32H FAH 1,000,000& *2H 2 2,000
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A
M MEXRS 255
©el: B2 29 CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
— X2l Ald 22l 100,000& »210& 21,000
—IIEFYs 2YEZ 7Y 225,000& 204! 4,500
— LS AMRY 2EEFT 7Y 1,000
—SH=sHEgs A2 12,000& 502 600
— RO0=01217 2L 100,000& 53 500
—dldl Zxl 15,900& 124 & 191
02 8323l 153,435 140,935 12,500
OFINHE 222l 153,435
— AL EHRFH 4,320
s 910& +3,0004 2,730
= 1,260& *1,261.5¢ 1,590
= = 13,000& *2504 3,250
—&IAEZ 120,700
M2 2 #8% 3,500,000& x12& 42,000
IFES2AE 3,500,000& x12& 42,000
oIZEL 4,250,000& =101 &~ =4 & 17,000
aHal Al 200,000& = 12& 2,400
22| AR A 500,000& 123 6,000
2kt 25,000& 123 300
-HsZE orgd2 916,600& x12& 11,000
— dD|etd Zte| O & Y| 6,000
sy ¢ 293 300,000& »12& 3,600
NEFLS 200,000& 123 2,400
—dBESRZ 100,000& »23| & x12& 2,400
—aX2Ad EA 1,000, 000& =44 2~ 4,000
—A2HFYFZHI 4,000
SHEMEE 2,000,000 » 14 2,000
NEFLS 2,000,000& » 14l 2,000
—CtadsSazg(tE=2I]) 20,3508 128 245
-vea 15,0003 284l x 123 5,040
— QY23 20,0003 +73 & +128 1,680
— S JIs X2l 150,000& = 12& 1,800
401 Al&HI & 28I 110,500 80,000 30,500
01 A& HI 110,500 80,000 30,500
OFINHE ANE EFHI 70,500
—2=X2AE B A 2,500,000 x14! 2,500
— &I EZ S A 40,000,000& =14 40,000
—242 ¥ ANES E=2AM
2,000,000 *4H 2~ 8,000
—23 B A 5,000,000& =23l 10,000
—SHEAMEE NEF B
250, 000& *40m* 10,000
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2N

PSP 2o A&
ce: 29 CR L EA)
M. 0 (3H) - HEAY - B2 ﬁlf& HD=2
Ogsiss X JIE2AHE 2 THAEHF
=9 40,000,000 1A 40,000
405 Ko SHI 5,955 4,950 1,005
01 A&t = S F SHI 5,955 4,950 1,005
SSISIIESFIIE 29 257¢ 5,955
—YWEDN(HAE) 660,000& *5CH 3,300
—TV(HAE) 377,000& =5CH 1,885
== 770,000& = 1CH 770
= 4 (MeAMY) 300,000 500, 000 A 200,000
o= 250,000
= 50,000
Bt AH| 100,000 0 100,000
o= 100,000
AP 22| H] 100,000 0 100,000
O &% 89 = 294 100,000
== 100,000
A&EH YL 20U 100,000 500, 000 A 400,000
= 100,000
Al & H| 100,000 500, 000 A 400,000
OXNR2 = ZLAMY 100,000
o= 100,000
XH&HF S HI 100,000 0 100,000
< 50,000
= 50,000
&MY 2 EF SHI 100,000 0 100,000
OXsEE &d 72 100,000
—HEE2 4] 19,250,000 *2CH 38,500
& 19,250
iy 19,250
— AAsAEASAH 990,000& = 1CH 990
= 495
= 495
—HEE LTHO SHAAH
8,000, 000& = 1CH 8,000
= 4,000
= 4,000
—AEHOIE SH)D| 9,900,000& = 1CH 9,900
& 4,950
= 4,950
—SH2ANAE 7,400,000& = 1CH 7,400
= 3,700
= 3,700
—gsg 53| 150,000& ~10CH 1,500
& 750
iy 750

_48_




A
Ha: MYV LS
©el: B2 29 (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
— s ELA 1,760, 0002 »2CH 3,520
< 1,760
[ia 1,760
— A SSEHATANAE 7,810,000 = 1CH 7,810
< 3,905
s 3,905
— A4 == 169,000& = 10CH 1,690
< 845
[ia 845
—BHHUR 2 s(8HA) 2,069,000 *10CH 20,690
< 10,345
fia 10,345
UE - LIS =HEA 2SR 51,000 51,000 0
= 25,500
< 7,650
s 17,850
201 £B-2dH| 51,000 51,000 0
= 25,500
< 7,650
s 17,850
01 At 22/l 51,000 51,000 0
Os2d =ol&dA 2E XA 25,500,000 x2H 51,000
= 25,500
< 7,650
[ia 17,850
HY2AZH (A ) 35,993 34,973 1,020
ol 2 gl 3,060 2,100 960
ol 2AH| 3,060 2,100 960
101 14 Hl 3,060 0 3,060
03 RIAHAZZ2 T E += 3,060 0 3,060
Osshta =zl |FA 22l ol
20,0003 «1H 4L 1204 & 960
OHRALE 222(5 - 5t=) 2Y
700,000& x3H 2,100
Jl=34l 32,933 32,873 60
Jl23l 32,933 32,873 60
201 Let24d] 20,273 19,973 300
01 At 22l 17,633 17,333 300
O=SMEXN 7 22,900& x 10 A %128 2,748
OMREE 7¢ 1,200, 000& *23| 2,400
O=SAI Xtz 685,000& »12& 8,220
O&F=D| gtz 43,7003 x12& 525
OUEZRE= 660,000& 4= | 2,640
OdgddzEz TA7Y 100, 0002 53 500
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SA: A
Mz HMSAHH (AR D)
@2 Jl2&tl (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O3JI&#EI] 50,000& =12& 600
02 332494l 2,640 2,640 0
OMRY B2 = 264,000& *10& 2,640
202 (4] 3,840 7,680 N 3,840
01 2L Y] 3,840 7,680 N 3,840
2AEg =UHH LI 20,000& x16H x12& 3,840
203 ¥R =&Y 8,220 5,220 3,000
04 ENSIHRF=XY| 8,220 5,220 3,000
ORN2IIRF&Y| 685,000& x12& 8,220
405 XtabF S| 600 0 600
01 Mt = S F S 600 0 600
OSMHME2I 600,000& =14 600
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